
ROUND BALLS , SQUARE CUBES
& UMBRELLA CAP



ROUND BALLS

SIZE

GOLD/ROSEGOLD /METALIC
BLACK/SILVER

1"

₹150

1.5"

₹270

2"

₹429

2.5"

₹585

3"

₹744

4"

₹1041





SQUARE CUBES



SQAURE CUBES

SIZE

GOLD/ROSEGOLD /BLACK

1"

₹540

1.5"

₹744

2"

₹1050

3"

₹1650

UMBRELLA CAP



UMBRELLA CAP

SIZE

GOLD/ROSEGOLD /BLACK

3/4"

₹150

1"

₹210

1.5"

₹300

2"

₹360

We suggest balls for wall size wise

10x20 Wall	Size	Qty	price per pc	MRP
55pc set	1"	13	150	1950
	1.5"	10	270	2700
	2"	10	429	4290
	2.5"	8	585	4680
	3"	8	744	5952
	4"	6	1041	6246
	Total	55		25818

10x12 Wall	Size	Qty	price per pc	MRP
38pc set	1"	10	150	1500
	1.5"	8	270	2160
	2"	5	429	2145
	2.5"	4	585	2340
	3"	5	744	3720
	4"	6	1041	6246
	Total	38		18111

8x8 Wall	Size	Qty	price per pc	MRP
22set	1"	4	150	600
	1.5"	5	270	1350
	2"	4	429	1716
	2.5"	4	585	2340
	3"	2	744	1488
	4"	3	1041	3123
	Total	22pc		10617

THANK YOU....